¥

i ﬂ % oty

9. flx)=vy= 3x=2
X
xy=3x-2
(y=3)x=-2
-2 2
X=——=7
¥=3 3-y

Interchange x and y:
2

3-x

SP
f U)—3_x

10. f(x)=y= mttan'—;:

tan'—£ E< <E
Y=37257%,

T T
x=3tany, ——<y<-
2 2

Interchange x and y:

T T
y=3tanx, ——<x<—
. 2 2

T
fﬁl(x):3tan.x,~§<x<—
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T ds  d:

1 = 1
=(s) (-25)+ (W 1=5> XD -
( 7} Vi-s?

6 ﬂ:i(s\/1~sz)+di(cos“ 5)
S Ay

2N1=5"

2

N 2 1

= +l-s" =
Vi-s? J1-5?

_—sz+(1—s2)~1

2

[—s

o 2%
\]1~s2

7. dy = —d—(xsilfl x)+i(\}1— x%)
dy  dx dx .

1 .1 1
=(x) +(@sin” XD+ (—2x)
’ {Vl—xz} 21— x*

=sin"' x
dy d _. 1
8, —=—[sin" (2x
dx dx fsin™ (20}

= —[sin_lF(Zx)]“2 isin'1 (2x)
dx
1

= [sin ™t (2x)) )

1-4x*

2
i 0P V1-4x7

9, x(1)=sin""! [—2—]
dx _d_

1 1 1
- 2 4 Ji6-1
1——-
16
‘,1(3) dx —-—dl————ﬂ
T, Jig-3 7

RN
r 8t
=76
dx 1 1
\)(4):«—\ = . —_—
darl_, 4 84
16
112 1
- [ 16 3 16 2
-7
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dyx d ¢ - |
1 = =—fuan =

I +i-
d] | |
2)=—+ = -==
v(2) c’ll|,=, |+2° 3
12 i\— [ldn Yt )]
Tode di
1 d .
= s
I+ di
2
e
dx 2(1)
(= =1
' T*I 1+
v d
13. Q:—(—sec"(lwl)
ds ds
—(7s +1)
|7s+1N 25417 —1 8
1
(2= —=
E2s+l,; 457 +4s 25+ Vs~ +5
14 dy de"%s | (/(” 1
=—sec = - = e
ds ds IS5 \(55)* —1 D lsv2557 - |
15 Do
dydy
| d -
= N —(x" + 1)
[y 1 -
‘ 2y 2
B PN S R R DAV
Note that the condition x > 0 is required in the last step.
16. £=icsc"l + :*_—l__i X
dy  dx 2 K 2 dyi 2
Ll :
!_: [_) 4] )
i I
= -~
2
i\ v —d

17 dy d . _l[lv] I 1/[1]
L E s | S E e -
dr i t) “, ]L'l-\z di\t

: ~ | {
i8. d—":—d—cnl”l\/r S Vfi

dy d _ 1 d -
19. {_[)[—:E(:Ot‘ [—1:—1:_—:/?]—)5‘;;\/}?]
Yo )Y
A=t adioT) 2o
20. d—\ il— —l—msecls
ds ds ds
= 1 (25)— l
Wt -1 M 5 -1
_ S’Si—l
his‘ 521
21 dy d

22,

1y [ { -
. —'——(lan T -1) +;—(csc l_x)
dx

dx  dx

LN

]x -l

J )~ dx

R

0 W1 ‘,\“!\},\‘3—1
‘ |

_.\'\/.\'3—1 M\/,\'Z~l

=0
Note that the condition x > 1 1s required in the last step.

dy [/{ _,1) d
— = cot” " — |——(tan" ' x)

dx  dx\ X A¥

5

__;_i(LJ__l_
H_(l]c/.\' X)) 14a°
hY

— L i J ]
= | P
=0 ) 1+x”
X
R
SRR
=0,x20

The condition x # 0 is required because the original
function was undefined when x = 0.

y=sec'x

dy 1

c/.\'_1'\.| N
R .

TN G

v(2)=sec™'(2)=cos” (?j =

s

y= NG W=y

or y=0.289(v~-2)+1.047
v=0.289v+0.469




